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SECTION |
Part A

Answer any ten questions.

Each question carries 2 marks.

1. National income

2. What is social accounting?

3. Explain the measure of Green Accounting.

4. What is meant by Net Economic Welfare?

5. Cash transactions version of quantity theory.

6. Estimate mps if mpc= 0.9

7. What is investment?

8. Explain two important determinants of investment.
9. Keynesian cross.

10.  What are the condtions for Keynesian equilibrium income and output?
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Investment multiplier.

What is balanced budget multipler?
(10x2=20)
PartB

Answer any six questions.

Each question carries 5 marks.

Bring out the important differences between Microeconomics and Macreconomics.
Explain the circular flow of economic activity in a two sector economy.

Explain with the help of a diagram the circular flow of economic activity within houisehold
sector and business sector.

What is the assumption of wage price flexibility?
Explain the classical theory of interest.

Keynes' criticism of classical system.

Under employment equilibrium.

What are the important factors affecting consumption?

What are the determinants of MEC?
(6%x5=30)
Part C

Answer any two questions.

Each question carries 15 marks.

Explain the income method of estimating national income.
What are the fundamental assumptions of the classical system?
Explain the Keynesian psychological law of consumption.

Explain the two sector Keynesian model of income determination.
{2x15=30)



